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4.5. $4EG5F F5G5=<O 6<4>>EF<. �>=65>F<O  

�>45?< 6<4>>= ED54O: <454?L=4O,   =LNF>=>6E>4O < =5=LNF>=>6E>4O 

6<4>>EF<. �5GEF4=>6<6L55EO < GEF4=>6<6L55EO 46<65=<O 6<4>>EF<. 

'D46=5=<5 =5D47DO6=>EF<. 'D46=5=<5 -=?5D4. 'D46=5=<O �5D=G??< ?>F>>4 

<454?L=>= < D54?L=>= 6<4>>EF<. 'D46=5=<O �46L5 - %F>>E4. �>4E>4O > 

4<E>D5F<74F<< GD46=5=<O �46L5 - %F>>E4.  
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�OF5>4=<5 6<4>>EF< <7 E>EG44 ?D><76>?L=>= D>D<O. �>F5=F<4?L=>5 

F5G5=<5 6<4>>EF<. �444G4 >5 >5F5>4=<< F5?. &5G5=<5 6O7>>= 6<4>>EF< 6 

>4=><5D=>< E?GG45. �>=65>F<O. �<ED56>5 46<65=<5 6O7>>= 6<4>>EF<. 

�5<>4<=4<<>4. �E=>6=O5 ?>?>65=<O 7<4D>4<=4<<><, <E?>?L7G5<O5 ?D<  

<7GG5=<< 46<65=<O >D>6< 6 E>EG4<EF>= E<EF5<5. �>45?<D>64=<5  ?>F>>4 

D54?L=>= 6<4>>EF< E GG5F>< 7<4D46?<G5E><E ?>F5DL.  

4.6. $4EG5F M?5>FD<G5E>>7> < <47=<F=>7> ?>?5=  

$4EG5F M?5>FD<G5E>>7> ?>?O. -?5>FD<G5E>>5 ?>?5 E<EF5<O M?5>FD<G5E><E 

74DO4>6. �5F>4O ?>EFD>5=<O E<?>6OE ?<=<= ?>?5=. %<?>6O5 ?<=<< 

<47=<F=>7> ?>?O. $4EG5F <47=<F=>7> ?>?O ?D>6>4=<>>6 E F>>><. 

'<E?5==>5 D5L5=<5 GD46=5=<O �4??4E4. $5L5=<5 GD46=5=<O �G4EE>=4 

4?O >4=>D>4=>= < 4?O =5>4=>D>4=>= ED54O. $4EG5F  M?5>FD<G5E>>7>  ?>?O  6  

?>?OD=>=  <  F<?<=4D<G5E>>= E<EF5<4E >>>D4<=4F. $4E?D>EFD4=5=<5 

M?5>FD><47=<F=>= 6>?=O 6 6>?=>6>45. 

 

&5<4 5. �5D>OF=>EF=>-EF4F<EF<G5E><5 < <<<F4F<>==O5 <5F>4O 

<>45?<D>64=<O D<7<G5E><E ?D>F5EE>6. �5F>4 �>=F5-�4D?> 

 

5.1. �5F>4 �>=F5-�4D?> < >E=>6=O5 ?>?>65=<O F5>D<< 

65D>OF=>EF5= 

�E=>6=O5 ?>=OF<O < F5>D5<O F5>D<< 65D>OF=>EF5=. �5D>OF=>EF=O=  

46F><4F. �5=5D4F>DO < 4?7>D<F<O ?>?GG5=<O E?GG4==OE G<E5?. 

�5D46=><5D=O5 D4E?D545?5=<O 65D>OF=>EF5=. �5F>4 �>=F5-�4D?> 6 D5L5=<< 

?D<>?44=OE 6OG<E?<F5?L=OE 7444G. �OG<E?5=<5 <=F57D4?>6 < D5L5=<5 

GD46=5=<= <4F5<4F<G5E>>= D<7<>< <5F>4>< �>=F5-�4D?>. �54>EF4F>< < 

4>EF><=EF64 <5F>44 �>=F5-�4D?>. 

5.2.  �E=>6O <<<F4F<>==>7> <>45?<D>64=<O  
�E=>6O ?D<<5=5=<O <5F>44 <<<F4F<>==>7> <>45?<D>64=<O. 

%>EF46?ONM<5 <<<F4F<>==>= <>45?<. �?4EE<D<>4F<O <<<F4F<>==OE 

<>45?5=. �E=>6O >D74=<74F<< <<<F4F<>==>7> <>45?<D>64=<O. �?4=<D>64=<5 

<<<F4F<>==OE M>E?5D<<5=F>6. %F4F<EF<G5E><= 4=4?<7 D57G?LF4F>6 

<<<F4F<>==OE M>E?5D<<5=F>6 < <EE?54>64=<5 E6>=EF6 <<<F4F<>==>= 

<>45?<. 

5.3.  �<<F4F<>==>5 <>45?<D>64=<5 D<7<G5E><E ?D>F5EE>6 < O6?5=<= 
�<<F4F<>==>5 <>45?<D>64=<5 >5N5>F>6 < O6?5=<= 6 O45D=>= D<7<>5. 

�444G4  <<<F4F<>==>7>   <>45?<D>64=<O   ?D>E>645=<O =5=FD>=>6 G5D57 

??4EF<=>G. $5L5=<5 7444G< D>7O7DOL4 F<?4 674<<>45=EF6<O < E>DF4 O4D4 

<<<F4F<>==O< <>45?<D>64=<5<. �?D545?5=<5 =4?D46?5=<O < M=5D7<< G4EF<F 

?>E?5 D4EE5O=<O. �>45?<D>64=<5  4?<=O E6>5>4=>7> ?D>5574 G4EF<F. 

�<<F4F<>==>5 <>45?<D>64=<5 FD45>F>D<< 46<65=<O =5=FD>=>6 G5D57 

??4EF<=>G (46GE<5D=O= E?GG4=). �<<F4F<>==>5 <>45?<D>64=<5 

?D>E>645=<O ÷ -<7?GG5=<O G5D57 65M5EF6>. �<<F4F<>==>5 <>45?<D>64=<5 

D4E?D>EFD4=5=<O G?DG7<E 6>?= 6 ?>D<EFOE ED544E. �<<F4F<>==>5 

<>45?<D>64=<5 O6?5=<O E?>=F4==>7> <7?GG5=<O 4F><>6. 
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&5<4 6. �5F>4O <4F5<4F<G5E>>7> <>45?<D>64=<O E<EF5<, 

E>EF>OM<E <7 5>?LL>7> G<E?4 G4EF<F 

6.1. �5F>4 <>?5>G?OD=>= 4<=4<<>< 
�>45?<D>64=<5 <5F>4>< <>?5>G?OD=>= 4<=4<<><. �5F>4O 

<=F57D<D>64=<O GD46=5=<= 46<65=<O: E>>D>EF=>= 4?7>D<F< �5D?5 < <5F>4O 

�44<E4. �>45?<D>64=<5 <>?5>G? F65D4O<< L4D4<<. �>?GM<?<D<G5E><5 

<>45?L=O5 ?>F5=F<4?O 6 7444G4E <>?5>G?OD=>= 4<=4<<><. �F5=>4 

<4>D>E>>?<G5E><E E4D4>F5D<EF<> EF4F<EF<G5E>>= E<EF5<O. �F5=>4 

>>MDD<F<5=F>6 ?5D5=>E4 <5F>4>< <>?5>G?OD=>= 4<=4<<><. �>45?<D>64=<5 

D47>6OE ?5D5E>4>6 <5F>4>< <>?5>G?OD=>= 4<=4<<><. 

6.2. %F>E4EF<G5E><5 <>45?< <>?5>G?OD=OE E<EF5< 
�5F>4 5D>G=>6E>>= 4<=4<<><. �<<F4F<>==O= <5F>4 <>45?<D>64=<O 

5D>G=>6E><E FD45>F>D<=. �4>D>E>>?<G5E>4O E<EF5<4 65?<7< D46=>65E<O. 

-=FD>?<O. �<>D>>4=>=<G5E><= 4=E4<5?L. %F>E4EF<G5E>>5 <>45?<D>64=<5 

<454?L=>7> 7474. $4E?D545?5=<5 �>?LF<4=4. $4E?D545?5=<5 �4>E65??4 ?> 

E>>D>EFO<. %?GG4==O5 5?G644=<O < <>45?L >4=><5D=>= 4<DDG7<<. �>45?L 

�7<=74. &5??>6>= ?>F>>. �>45?<D>64=<5 O6?5=<O ?D>F5>4=<O 6<4>>EF5= 

G5D57 ?>D<EFO5 <4F5D<4?O. �5D>>?OF<O. �4=>=<G5E><= 4=E4<5?L. �?7>D<F< 

�5FD>?>?<E4.  
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1 
�5F>4O <4F5<4F<G5E>>7> 

<>45?<D>64=<O 1 0 0 
 

 �?D>E 

2 

�OG<E?<F5?L=O= 

M>E?5D<<5=F. �><?LNF5D=>5 

<>45?<D>64=<5 
1 2 2 

 

 

�?D>E 

���*) 

�FG5F 

?> �$*) 

3 

�5?D5DO6=>-45F5D<<=<-

D>64==O5 <>45?< 

4<=4<<G5E><E E<EF5< E 

>>=5G=O< G<E?>< EF5?5=5= 

E6>5>4O 

4 2 6 

 

  

3.1 

�<=4<<>4 <4F5D<4?L=>= 

F>G>< 
2 1 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

3.2 

�>?554F5?L=>5 46<65=<5 

1 0,5 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

3.3 

 �>45?<D>64=<5 46<65=<O 

F5?4  
1 0,5 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

4 

�5?D5DO6=>-45F5D<<=<D>-

64==O5 <>45?< 

4<=4<<G5E><E E<EF5< E 

55E>>=5G=O< G<E?>< 

EF5?5=5= E6>5>4O 

12 6 10 
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4.1 
�4F5<4F<G5E><5 <>45?< 

E??>L=>= ED54O 2 0 0 
 

 
�?D>E 

 

4.2 

'<E?5==O5 <5F>4O D5L5=<O 

7444G 
2 1 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

4.3 

�>?=>6>5 46<65=<5 6 ED544E 

2 1 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

4.4 

/6?5=<O ?5D5=>E4 

2 2 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

4.5 

$4EG5F F5G5=<O 6<4>>EF<. 

�>=65>F<O 
2 1 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

4.6 

$4EG5F M?5>FD<G5E>>7> < 

<47=<F=>7> ?>?5= 
2 1 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

5 

�5D>OF=>EF=>-EF4F<EF<-

G5E><5 < <<<F4F<>==O5 

<5F>4O <>45?<D>64=<O 

D<7<G5E><E ?D>F5EE>6. 

�5F>4 �>=F5-�4D?> 

6 4 4 

 

  

5.1 

�E=>6=O5 ?>=OF<O < 

F5>D5<O F5>D<< 

65D>OF=>EF5=. 

�5D>OF=>EF=O=  46F><4F. 

�5=5D4F>DO < 4?7>D<F<O 

?>?GG5=<O E?GG4==OE G<E5?. 

�5F>4 �>=F5-�4D?> 6 

D5L5=<< ?D<>?44=OE 

6OG<E?<F5?L=OE 7444G  

2 2 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 

5.2 
�E=>6O <<<F4F<>==>7> 

<>45?<D>64=<O 2 0 0 
 

 
�?D>E 

 

5.3 

�<<F4F<>==>5 

<>45?<D>64=<5 D<7<G5E><E 

?D>F5EE>6 < O6?5=<= 
2 2 2 

 

 

�?D>E 

��� 

�FG5F 

?> �$ 
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6 

�5F>4O <4F5<4F<G5E>>7> 

<>45?<D>64=<O E<EF5<, 

E>EF>OM<E <7 5>?LL>7> 

G<E?4 G4EF<F 

4 2 4 

 

  

6.1 

�5F>4 <>?5>G?OD=>= 

4<=4<<>< 
2 2 2 
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6.2 
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�FG5F 
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$�������'���/ ��&�$�&'$� 

 

�E=>6=4O 
1. �4F5<4F<G5E>4O D<7<>4 : 'G55. ?>E>5<5 4?O EFG4. D<7-<4F. E?5F. G=-

F>6 / �. �. $GE4>. 3 �<=E> : �<74== �$�, 1998. 3 208 E. 

2. �?>F=<>>6, �. �. '<E?5==O5 <5F>4O : GG55. ?>E>5<5 /  

�. �. �?>F=<>>6. 3 �<=E> : �>6>5 7=4=<5, 2007. 3 174 E. 

 

�>?>?=<F5?L=4O 
3. �6545=<5 6 <4F5<4F<G5E>>7> <>45?<D>64=<O: GG55=>5 ?>E>5<5 / �>4 

D54. �.�.&DGE>64 3 �.: '=<65DE<F5FE>4O >=<74, �>7>E, 2007. 3 440 E. 

4. �5D56<G, �. �. �D4>F<>G< ?> GD46=5=<O< <4F5<4F<G5E>>= D<7<>< : 

GG55=>5 ?>E>5<5 / �. �. �5D56<G. 3 2-5 <74., EF5D. 3 %4=>F- 

�5F5D5GD7 : �4=L, 2021. 3 428 E. 

5. �44=>6, -. $. �><?LNF5D=>5  <>45?<D>64=<5 D<7<G5E><E  O6?5=<=  <  

?D>F5EE>6  <5F>4><  �>=F5-�4D?> : 'G55=>-<5F>4. ?>E>5<5 /  -. $. �44=>6,  

$. $. �4?<>>6,  $. �. %<E<4FG??<=.  3 'D4 : �74-6> ���', 2005. 3 124 E. 

6. �6>=4D56, %. �. �E=>6O <4F5<4F<G5E>>7> <>45?<D>64=<O: GG55=>5 

?>E>5<5 / %. �. �6>=4D56. 3 �>4F5D<=5GD7 : �7416> 'D4?. G=1F4, 2019. 3 112 E.  

7. �4=5D $. �., �><?LNF5D=>5 <>45?<D>64=<5: GG55=>-<5F>4<G5E>>5 

?>E>5<5  4?O EFG45=F>6  ?5447>7<G5E><E  6G7>6  [-?5>FD>==>5  GG55=>5  

<744=<5  =4  >><?4>F-4<E>5]. 3 �?47>6: �?47>6. 7>E. ?54. <=-F, 2015. 3 24,3 �5. 

8. �4?<>>6, $.$. �D4>F<>G< ?> >><?LNF5D=><G  <>45?<D>64=<N 

D<7<G5E><E  O6?5=<=  <  >5N5>F>6: 'G55=>-<5F>4. ?>E>5<5 / $. $. �4?<>>6. 3 

'D4: �74-6> �4L��', 2005. 3 291 E. 

9. �>?>6, �. �.  �4F5<4F<G5E><5 <5F>4O <>45?<D>64=<O D<7<G5E><E 

?D>F5EE>6: 'G55=>-?D4>F<G5E>>5 ?>E>5<5 / �. �. �>?>6. 3 �4D=4G? : �?F. 

7>EG4. F5E=<G. G=-F <<. �.�. �>?7G=>64, 2011. 3 195 E.  

10. �>DL=56, %. �. �><?LNF5D=>5 <>45?<D>64=<5 D<7<G5E><E 

?D>F5EE>6 6 ?4>5F5 MATLAB : GG55=>5 ?>E>5<5 / %. �. �>DL=56. 3 2-5 <74., 

<E?D. 3 %4=>F-�5F5D5GD7 : �4=L, 2011. 3 736 E. 

 
 

�==>64F<>==O5 ?>4E>4O < <5F>4O > ?D5?>4464=<N GG55=>= 

4<EF<??<=O 

 

�D< >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4 <E?>?L7G5FEO <5F>4 GG55=>= 

4<E>GEE<<, >>F>DO= ?D54?>?4745F GG4EF<5 EFG45=F>6 6 F5?5=4?D46?5==>< >5<5=5 

<=5=<O<<, <45O<< 4?O ?D54NO6?5=<O </<?< E>7?4E>64=<O EGM5EF6GNM<E 

?>7<F<= ?> >?D545?5==>= ?D>5?5<5. �E?>?L7>64=<5 <5F>44 >55E?5G<645F 

?>O6?5=<5 =>6>7> GD>6=O ?>=<<4=<O <7GG45<>= F5<O, ?D<<5=5=<5 7=4=<= 

(F5>D<=, >>=F5?F<=) ?D< D5L5=<< ?D>5?5<, >?D545?5=<5 E?>E>5>6 <E D5L5=<O. 
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�?O >D74=<74F<< E4<>EF>OF5?L=>= D45>FO EFG45=F>6 ?> >GDEG =5>5E>4<<> 

<E?>?L7>64FL E>6D5<5==O5 F5E=>?>7<<: D47<5EF<FL 6 E5F56>< 4>EFG?5 >><??5>E 

GG55=OE < GG55=>-<5F>4<G5E><E <4F5D<4?>6 (?D>7D4<<4, <5F>4<G5E><5 G>474=<O 

> ?D4>F<G5E><< 74=OF<O<, E?<E>> D5>><5=4G5<>= ?<F5D4FGDO < 

<=D>D<4F<>==OE D5EGDE>6, 7444=<O 6 F5EF>6>= D>D<5 4?O E4<>>>=FD>?O < 4D.). 

�D< MF>< =5 EF46<FEO F5?L >E64F<FL 6E5 EF>D>=O ?D54<5F4 <?< 74<5=<FL 

4DG7<5 D>D<O D45>FO. �>45>D 7444=<= 4?O E4<>EF>OF5?L=>= D45>FO =4?D46?5= 

=4 D>D<<D>64=<5 547>6OE ?D54<5F=OE >><?5F5=F<= ?GF5< ?D<<5=5=<O 

F5>D5F<G5E><E 7=4=<= < =46O>>6 6 >>=>D5F=OE E<FG4F<OE < ?D< D5L5=<< 7444G 

>>=>D5F=>7> >?4EE4, 4 F4>65 =4 D476<F<5 4>F<6=>EF< < E4<>EF>OF5?L=>EF< 

EFG45=F>6. 

�4G5EF6> E4<>EF>OF5?L=>= D45>FO EFG45=F>6 F5?5E>>5D47=> ?D>65DOFL 6 

E>45 F5>GM57> ?D><56GF>G=>7> < <F>7>6>7> >>=FD>?O 6 D>D<5 GEF=>7> >?D>E4, 

6O?>?=5=<O 4><4L=<E 74=OF<=, =5?>ED54EF65==> E6O74==OE E ?45>D4F>D=O<< 

D45>F4<< ?> E>>F65FEF6GNM5= F5<4F<>5, >>=FD>?L=OE D45>F (F5EF>6) ?> F5<4< < 

D4745?4< 4<EF<??<=O (<>4G?O<). 

 

�5D5G5=L D5>><5=4G5<OE ED54EF6 4<47=>EF<>< 

 

% F5?LN 4<47=>EF<>< 7=4=<=, G<5=<= < =46O>>6 EFG45=F>6 ?> 44==>= 

4<EF<??<=5 D5>><5=4G5FEO <E?>?L7>64FL: 

1) >>=FD>?L=O5 D45>FO (F5EFO); 

2) >FG5FO ?> ?45>D4F>D=O< D45>F4<; 

3) <=4<6<4G4?L=O5 4><4L=<5 7444=<O; 

4) GEF=O= >?D>E 6 E>45 ?D4>F<G5E><E 74=OF<=; 

5) ?D>65D>G >>=E?5>F>6 ?5>F<= EFG45=F>6. 

 

 �D<<5D=4O F5<4F<>4 ?D4>F<G5E><E  < ?45>D4F>D=OE 74=OF<= 

 

�D54?>?4745FEO, GF> < ?D4>F<G5E><5, < ?45>D4F>D=O5 74=OF<O ?D>6>4OFEO 

6 >><?LNF5D=>< >?4EE5. �D< MF>< >>=>D5F=4O F5<4F<>4 MF<E 74=OF<= 

>FD465=4 6 GG55=>-<5F>4<G5E>>= >4DF5 4<EF<??<=O. �4<=EF65==>5 

GF>G=5=<5: ?D4>F<G5E><5 < ?45>D4F>D=O5 74=OF<O ?> F5<5 2  

"�OG<E?<F5?L=O= M>E?5D<<5=F. �><?LNF5D=>5 <>45?<D>64=<5" E6O74=O E 
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